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But it did not rest — 71 R? N

OVERVIEW

The mwn states if an object was thrown less than nX "7 and it rolled outside the
X"7 he 1s Mo, however if 1t was thrown outside the X"7 and it rolled back into the
X"7, he is 2»n. The Xmx asks: 'm1 X7 X7Y'; our N1OIN explains on which part of the
mawn is this question, and the validity of this question.

mMooIN asks:
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And if you will say; what is the X7 asking, for we learnt in a Xn>92
previously, ‘within three 0°19v all agree that he is 2°°17 even if it did not rest’ —

MooIN anticipates a possible solution to his question (and rejects it):
= 213 RY NN 9109 NN IRD HINN 7T TINNT 991D NI PPN

And it is not correct to say that the question is, ‘why is he 91» since it was not
n2’, and it is referencing the Xw"1 of the miwn which states that if he threw it

within X'"'7 and it rolled outside the X" he is Mv> -
= 32905 YAINRD IN 79 NN NIYI 15 ON)

So therefore (since there was no 7r17 within the X"7) when it rested afterwards
beyond the X'"7, he should be 21 —

mooIn rejects the solution:
= 5290 INNN 7299 NN 71D NINKT ¥YIYWN 290 99) [4PN2Inn] XN

! The ’n™2 there is referencing the npYomn between o°mom ¥"7 in a case where an object was thrown 772 >"7n
v¥aRa 1", The &n»72 rules that if the object was less than three 2ndv from the 3"77 ground all agree that he is
2n; we see therefore that no nmin is required if it is "3 7vn2. Therefore here too in the X9°0 where (either it actually
landed on the ground or [see P71 1"7 >"w1]) it was " nun® beyond the R"7, therefore he is 21 despite the fact that it
eventually wound up "7 7.
2 The s'x 1 question (according to this 9% 7X71 1°X1) is why is he MWD in the Xw™, since when he threw it less than
R"7 it never came to a (full) rest, for it continued and rolled beyond the X"7, so there never was a iin17 within the R"7;
the 7M1 was later when it went beyond the X"7, so therefore he should be 211 for throwing 1"7172 X"7.
3 See X"wnnn who explains that even if it travelled '\ 7un?, we cannot say 7 AnNAY M3 2R (as Moo asks in the
X9°0 where it went X"72 y1), for the whole concept of 7017p (or '3 nvn? does not need a nmi7) is only if it goes from
one M to another (1"77% *"777M) or once it leaves its X"7, but in the same M (or within the X"7) we cannot say
mop (that it is considered at rest) for then how is it possible to be 2n for 2"72 X"7 A, if it is continually at rest.
Therefore if we assume that the s'87n3 question is on the Xw, our NMvOIN question would be resolved. '01n however
rejects this answer. See ‘Thinking it over’.
4 A marginal note amends this to read ®°1n» (instead of 7n*ann).
3 7any "7 answered the question of 111 X? XM, saying that it was ¥wn 3"y m. Regarding this answer, the X713 follows by
saying 21 121 M7 MM 12 7 P31 7"In; indicating the explanation of *"9 as to why he is 211 is correct. The parallel
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Because from the X n) stating "7 w1 NX°n', indicates that the question was
directed to the case of R"7% v, asking why is he 3%1 —

nB0IN answers:
$IWN 22) JY NNIN YA 1295 NYHY TIN 9INRT SN 75997 Y v

And one can say; that the s'k7nx question of 71 X7 X1 is according to 829, who

maintains that '3 7I\n requires a y1wn 3"y am17, according to the 3129 who argue
with ¥".

SUMMARY
Our X713 maintains that even "3 70 requires a (Ww» A"Y) Aman.

THINKING IT OVER

Why cannot we say like the X731 7°X1 (that the question is on the Xv™7; why is he
o)’ and °"1 answered that it was yiwn 2"V m, and as far as the 7"in (which
seemingly states that he is 2>°171 in the X5°0), that is because since we have no choice
but to explain the X2 in a case of M3, so we assume that the X5°0 is also in a case
where it was m1 (even though he is 2°11 without r1)?!%

case to 1wn A"V 11 is M7 NIAR in the X9°0 where he is 21, not by mn7 N7 in the RW* where he is wy; it is
evident that the 7"1n is proving that > is correct in explaining the X5°0 of the miw» where he is 2. In any event the
question remains why does the X1 require that it should be m1, when the Xn>13, cited in the beginning of 'o1n, does
not require a '3 7N 7M.
¢ The ®xn»"2 that 211 7"7 ' 710 is not accepted by everyone (see on X,1¥ that 210 72 pbn 27 agrees with this ’n»13;
however others there [and 827 *"1 here] disagree).
7 See footnote # 3. There is no question regarding the X9°0 since M7 X"X '3 TN,
88 See X"wmn.
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